
X[0] <= 0.5
mse = 1.016

samples = 26379
value = -0.0

X[17] <= 0.5
mse = 0.735

samples = 20616
value = 0.28

True X[16] <= 0.5
mse = 0.748

samples = 5763
value = -0.994

False

X[21] <= 1.963
mse = 0.159

samples = 1117
value = -0.107

X[19] <= 0.251
mse = 0.759

samples = 19499
value = 0.302

X[1] <= 0.5
mse = 0.153

samples = 1099
value = -0.099

X[26] <= 0.5
mse = 0.31

samples = 18
value = -0.569

X[21] <= -0.495
mse = 0.155
samples = 65
value = -0.273

X[21] <= -1.324
mse = 0.151

samples = 1034
value = -0.09

X[20] <= 0.5
mse = 0.067
samples = 31
value = -0.118

X[19] <= -0.427
mse = 0.195
samples = 34
value = -0.424

X[15] <= 0.5
mse = 0.055
samples = 30
value = -0.145

mse = -0.0
samples = 1
value = 0.424

mse = 0.049
samples = 28
value = -0.13

mse = 0.083
samples = 2

value = -0.445

X[24] <= 0.5
mse = 0.238
samples = 3

value = -1.162

X[7] <= 0.5
mse = 0.13

samples = 31
value = -0.35

mse = 0.013
samples = 2

value = -0.681

mse = 0.0
samples = 1

value = -1.644

mse = 0.114
samples = 30
value = -0.373

mse = 0.0
samples = 1
value = 0.519

X[19] <= -1.488
mse = 0.124

samples = 124
value = -0.0

X[19] <= -1.299
mse = 0.154

samples = 910
value = -0.102

X[16] <= 0.5
mse = 0.151
samples = 27
value = -0.219

X[22] <= 0.5
mse = 0.1

samples = 97
value = 0.057

mse = 0.132
samples = 26
value = -0.196

mse = 0.0
samples = 1

value = -1.154

mse = 0.088
samples = 64
value = -0.009

mse = 0.099
samples = 33
value = 0.193

X[9] <= 0.5
mse = 0.174
samples = 16
value = -0.347

X[21] <= -0.507
mse = 0.152

samples = 894
value = -0.097

mse = 0.071
samples = 15
value = -0.259

mse = 0.0
samples = 1

value = -1.578

mse = 0.121
samples = 351
value = -0.062

mse = 0.171
samples = 543
value = -0.121

X[19] <= 2.845
mse = 0.298
samples = 14
value = -0.707

X[20] <= 0.5
mse = 0.003
samples = 4

value = -0.039

X[3] <= 0.5
mse = 0.216
samples = 13
value = -0.806

mse = -0.0
samples = 1
value = 0.322

X[8] <= 0.5
mse = 0.179
samples = 8

value = -1.002

X[11] <= 0.5
mse = 0.143
samples = 5

value = -0.543

mse = 0.135
samples = 6

value = -1.118

mse = 0.001
samples = 2

value = -0.423

mse = 0.0
samples = 1
value = 0.07

mse = 0.046
samples = 4

value = -0.718

X[3] <= 0.5
mse = 0.001
samples = 3

value = -0.018

mse = 0.0
samples = 1

value = -0.143

X[13] <= 0.5
mse = 0.0

samples = 2
value = -0.007

mse = 0.0
samples = 1

value = -0.064

mse = 0.0
samples = 1

value = -0.002

mse = 0.0
samples = 1

value = -0.008

X[6] <= 0.5
mse = 0.625

samples = 12767
value = 0.359

X[19] <= 3.871
mse = 0.995

samples = 6732
value = 0.193

X[2] <= 0.5
mse = 0.507

samples = 12621
value = 0.354

X[16] <= 0.5
mse = 10.47

samples = 146
value = 0.834

X[9] <= 0.5
mse = 0.503

samples = 6051
value = 0.31

X[13] <= 0.5
mse = 0.508

samples = 6570
value = 0.395

X[1] <= 0.5
mse = 0.394

samples = 4955
value = 0.335

X[21] <= 0.099
mse = 0.983

samples = 1096
value = 0.193

mse = 0.5
samples = 560
value = 0.224

mse = 0.378
samples = 4395
value = 0.349

mse = 0.971
samples = 991
value = 0.24

mse = 0.878
samples = 105
value = -0.253

X[20] <= 0.5
mse = 0.389

samples = 5273
value = 0.38

X[29] <= 0.5
mse = 0.98

samples = 1297
value = 0.455

mse = 0.398
samples = 4903
value = 0.371

mse = 0.261
samples = 370
value = 0.488

mse = 0.554
samples = 983
value = 0.414

mse = 2.237
samples = 314
value = 0.578

X[5] <= 0.5
mse = 0.19

samples = 135
value = 0.483

X[2] <= 0.5
mse = 114.273
samples = 11
value = 5.018

X[21] <= -1.377
mse = 0.296
samples = 39
value = 0.288

X[19] <= -0.202
mse = 0.131
samples = 96
value = 0.557

mse = 0.428
samples = 3

value = -0.829

mse = 0.158
samples = 36
value = 0.391

mse = 0.121
samples = 75
value = 0.523

mse = 0.146
samples = 21
value = 0.695

mse = 0.0
samples = 1

value = 34.232

X[5] <= 0.5
mse = 8.545
samples = 10
value = 1.367

mse = 0.0
samples = 1
value = 6.816

mse = 4.918
samples = 9
value = 0.588

X[19] <= 1.366
mse = 0.975

samples = 6729
value = 0.191

X[16] <= 0.5
mse = 29.27
samples = 3
value = 4.102

X[22] <= 0.5
mse = 0.89

samples = 5129
value = 0.238

X[16] <= 0.5
mse = 1.215

samples = 1600
value = 0.043

X[9] <= 0.5
mse = 0.759

samples = 2357
value = 0.174

X[16] <= 0.5
mse = 0.994

samples = 2772
value = 0.292

mse = 0.742
samples = 2087
value = 0.206

mse = 0.824
samples = 270
value = -0.079

mse = 0.582
samples = 2576
value = 0.279

mse = 6.418
samples = 196
value = 0.454

X[21] <= 2.083
mse = 0.828

samples = 1499
value = 0.016

X[30] <= 0.5
mse = 6.943

samples = 101
value = 0.455

mse = 0.853
samples = 1128
value = 0.068

mse = 0.718
samples = 371
value = -0.143

mse = 4.675
samples = 75
value = 0.026

mse = 11.516
samples = 26
value = 1.73

X[3] <= 0.5
mse = 1.269
samples = 2

value = -0.258

mse = 0.0
samples = 1

value = 10.641

mse = 0.0
samples = 1
value = 0.539

mse = 0.0
samples = 1

value = -1.851

X[19] <= 1.479
mse = 0.601

samples = 5103
value = -1.035

X[21] <= 1.14
mse = 1.785

samples = 660
value = -0.671

X[1] <= 0.5
mse = 0.614

samples = 4311
value = -1.012

X[22] <= 0.5
mse = 0.509

samples = 792
value = -1.162

X[8] <= 0.5
mse = 0.388

samples = 284
value = -1.196

X[21] <= 1.477
mse = 0.627

samples = 4027
value = -1.0

X[20] <= 0.5
mse = 0.45

samples = 216
value = -1.143

X[14] <= 0.5
mse = 0.167
samples = 68
value = -1.358

X[11] <= 0.5
mse = 0.389

samples = 179
value = -1.207

X[21] <= -1.047
mse = 0.628
samples = 37
value = -0.842

mse = 0.361
samples = 141
value = -1.26

mse = 0.443
samples = 38
value = -1.01

mse = 0.661
samples = 5

value = -0.152

mse = 0.53
samples = 32
value = -0.956

X[21] <= -1.444
mse = 0.157
samples = 67
value = -1.374

mse = -0.0
samples = 1

value = -0.529

mse = 0.003
samples = 2

value = -1.758

mse = 0.157
samples = 65
value = -1.355

X[17] <= 0.5
mse = 0.626

samples = 4022
value = -1.002

X[9] <= 0.5
mse = 0.088
samples = 5

value = -0.013

X[22] <= 0.5
mse = 0.21

samples = 165
value = -0.825

X[20] <= 0.5
mse = 0.643

samples = 3857
value = -1.01

mse = 0.153
samples = 99
value = -0.913

mse = 0.268
samples = 66
value = -0.69

mse = 0.677
samples = 3332
value = -0.997

mse = 0.43
samples = 525
value = -1.094

X[30] <= 0.5
mse = 0.025
samples = 3

value = -0.135

X[32] <= 0.5
mse = 0.064
samples = 2
value = 0.435

mse = 0.002
samples = 2

value = -0.276

mse = -0.0
samples = 1
value = 0.033

mse = 0.0
samples = 1
value = 0.792

mse = 0.0
samples = 1
value = 0.256

X[17] <= 0.5
mse = 0.379

samples = 384
value = -1.235

X[9] <= 0.5
mse = 0.624

samples = 408
value = -1.091

X[29] <= 0.5
mse = 0.201
samples = 21
value = -0.839

X[3] <= 0.5
mse = 0.379

samples = 363
value = -1.265

X[18] <= 0.5
mse = 0.206
samples = 12
value = -0.658

X[15] <= 0.5
mse = 0.119
samples = 9

value = -1.039

mse = 0.127
samples = 7

value = -0.357

mse = 0.063
samples = 5

value = -1.018

mse = 0.092
samples = 7

value = -0.912

mse = 0.005
samples = 2

value = -1.421

X[5] <= 0.5
mse = 0.335

samples = 291
value = -1.304

X[19] <= 1.849
mse = 0.521
samples = 72
value = -1.111

mse = 0.275
samples = 188
value = -1.375

mse = 0.416
samples = 103
value = -1.181

mse = 0.676
samples = 35
value = -0.954

mse = 0.335
samples = 37
value = -1.255

X[32] <= 0.5
mse = 0.768

samples = 223
value = -1.007

X[13] <= 0.5
mse = 0.429

samples = 185
value = -1.193

X[2] <= 0.5
mse = 0.484

samples = 148
value = -1.107

X[21] <= 2.732
mse = 1.23

samples = 75
value = -0.828

mse = 0.252
samples = 78
value = -1.258

mse = 0.683
samples = 70
value = -0.942

mse = 1.315
samples = 67
value = -0.766

mse = 0.064
samples = 8

value = -1.409

X[20] <= 0.5
mse = 0.299

samples = 117
value = -1.286

X[19] <= 1.589
mse = 0.615
samples = 68
value = -1.031

mse = 0.274
samples = 101
value = -1.318

mse = 0.429
samples = 16
value = -1.026

mse = 0.886
samples = 11
value = -0.55

mse = 0.498
samples = 57
value = -1.133

X[21] <= 0.212
mse = 1.486

samples = 464
value = -0.768

X[21] <= 1.158
mse = 2.41

samples = 196
value = -0.447

X[13] <= 0.5
mse = 1.971

samples = 267
value = -0.592

X[21] <= 0.619
mse = 0.755

samples = 197
value = -0.999

X[22] <= 0.5
mse = 1.458

samples = 220
value = -0.718

X[29] <= 0.5
mse = 4.12

samples = 47
value = 0.065

X[21] <= -1.482
mse = 0.585
samples = 42
value = -1.091

X[19] <= 0.132
mse = 1.623

samples = 178
value = -0.631

mse = 0.0
samples = 1
value = 1.115

mse = 0.517
samples = 41
value = -1.125

mse = 1.512
samples = 170
value = -0.677

mse = 2.805
samples = 8
value = 0.063

X[19] <= 0.202
mse = 2.889
samples = 34
value = -0.324

X[3] <= 0.5
mse = 5.92

samples = 13
value = 1.104

mse = 2.347
samples = 33
value = -0.436

mse = -0.0
samples = 1
value = 4.944

mse = 0.892
samples = 2
value = 4.157

mse = 3.934
samples = 11
value = 0.232

X[13] <= 0.5
mse = 0.532
samples = 82
value = -1.187

X[5] <= 0.5
mse = 0.883

samples = 115
value = -0.848

X[22] <= 0.5
mse = 0.363
samples = 62
value = -1.295

X[2] <= 0.5
mse = 0.868
samples = 20
value = -0.899

mse = 1.171
samples = 8

value = -0.809

mse = 0.204
samples = 54
value = -1.367

mse = 0.616
samples = 7
value = -0.33

mse = 0.716
samples = 13
value = -1.23

X[21] <= 0.652
mse = 0.906
samples = 41
value = -0.591

X[3] <= 0.5
mse = 0.813
samples = 74
value = -0.991

mse = 0.731
samples = 3
value = 0.448

mse = 0.838
samples = 38
value = -0.663

mse = 0.477
samples = 23
value = -1.243

mse = 0.913
samples = 51
value = -0.889

mse = 0.0
samples = 1
value = 3.273

X[21] <= 2.726
mse = 2.335

samples = 195
value = -0.471

X[19] <= 2.208
mse = 2.513

samples = 177
value = -0.387

X[5] <= 0.5
mse = 0.212
samples = 18
value = -1.197

X[14] <= 0.5
mse = 1.981

samples = 149
value = -0.539

X[32] <= 0.5
mse = 4.478
samples = 28
value = 0.376

mse = 1.57
samples = 110
value = -0.693

mse = 2.938
samples = 39
value = -0.073

mse = 2.543
samples = 19
value = -0.297

mse = 5.32
samples = 9
value = 2.085

X[26] <= 0.5
mse = 0.182
samples = 10
value = -1.371

X[19] <= 2.854
mse = 0.147
samples = 8

value = -0.941

mse = 0.036
samples = 6

value = -1.576

mse = 0.236
samples = 4

value = -1.019

mse = 0.009
samples = 2

value = -0.284

mse = 0.02
samples = 6

value = -1.139


